
SECOND YEAR HIGHER SECONDARY EXAMINATION, MARCH 2023

SAMPLE QUESTION PAPER

Part ­ III

ACCOUNTANCY WITH COMPUTERISED ACCOUNTING

(Maximum : 60 Scores)

Time : 2 Hours

Cool­off time : 15 Minutes

General Instructions to Candidates :

• There is a ‘Cool­off time’ of 15 minutes in addition to the writing time.

• Use the ‘Cool­off time’ to get familiar with questions and to plan your answers.

• Read questions carefully before answering.

• Read the instructions carefully.

• Calculations, figures and graphs should be shown in the answer sheet itself.

• Malayalam version of the questions is also provided.

• Give equations wherever necessary.

• Electronic devices except non­programmable calculators are not allowed in the

Examination Hall.

   വവദദദർതവകൾകള പപദത നവർദദശങൾ: 

•       നവർദവഷ സമയതവനന പറപമ 15   ‘മവനവറവപന കൾ­   ’   ഓഫന ടടട ഉണദയവരവകട

•           ദചദദദങളമദയവ പരവചയപപടദനട ഉതരങൾആസതണട പചയദനട 'കൾ­  ഓഫന സമയട' 

   ഉപദയദഗവകക. 

•          ഉതരങൾ എഴതനതവനമമന ദചദദദങൾശദദപർവട വദയവകണട

•          നവർദദശങൾ മഴവനട ശദദപർവട വദയവകണട

•    കണക കടലകൾ , ചവതങൾ, ഗദഫകൾ,        എനവവ ഉതരകടലദസവൽ തപന

   കദണവകണട. 

•      ദചദദദങളപട മലയദളട പതവപട നൽകവയവടണന. 

•      ആവശദമളവടപതലദട സമവദകദങൾ പകദടകണട

•                ദപദഗദമകൾ പചയദനദകദത കദൽകദലററകൾ ഒഴവപകയള ഒര ഇലദകദണവകന

          ഉപകരണണവട പരരകദ ഹദളവൽ അനവദവകവല.



PART – A

                                         (ACCOUNTANCY)                        (40 Scores)

    Answer any four questions from 1 to 5. Each carries 1 score.       (4 x 1 = 4)

1. Which among the following is prepared at the time of dissolution of partnership

    firm.

(a) Profit and Loss Appropriation A/c (b) Profit and loss Adjustment A/c

(c) Revaluation A/c (d) Realisation A/c

2. A document containing terms of partnership is called ­­­­­­­­­­­­­­­

(a) Memorandum of Association    (b) Articles of Association

(c) Partnership Deed         (d) None of these

3. Which of the following Account is prepared at the time of admission of a partner?

(a) Realisation Account  (b) Revaluation Account

(c) Loan Account  (d) None of these

4. When realisation expenses are paid by a partner on behalf of the firm ,______

     account is debited 

5. In the absence of partnership deed, specify how the following situations are

    treated 

(a) Sharing of profit and losses.

(b) Interest on loan given by partners

PART – A

                                         (ACCOUNTANCY)                        (40 Scores)

1   മതൽ 5           വപരയള ഏപതങവലട നദലന ദചദദദങൾകന ഉതരട നൽകക. 1   ദസദർ വരതട.

(4 x 1 = 4)

1.             പങദളവതസദപനട പവരവചവവടന സമയതന ഇനവപറയനവയവൽ ഏതദണന തയദറദകനതന

(എ)        ലദഭനഷ വവനവദയദഗ അകകണന



(ബവ)       ലദഭനഷ കമരകരണഅകകണന

(സവ)     പനർമലദനവർണയഅകകണന

(ഡവ)   വവറഴവകൽ (റവയടലദസഷൻ) അകകണന

2.           പങദളവത വദവസകൾഅടങവയ ഒര ദരഖപയ ­­­­­­­­­­­­­   എനന വവളവകന

(എ)       ബദഹദ കദരദ നവയമദവലവ

(ബവ)       ആഭദനര കദരദ നവയമദവലവ

(സവ)     പങദളവത പമദണട

(ഡവ)   ഇപതദനട അല

3.             ഒര പങദളവയപട പദവശന സമയതന ഇനവപറയനഅകകണകളവൽ ഏതദണന

      തയദറദകനതന ?

(എ)   വവറഴവകൽ (റവയടലദസഷൻ) അകകണന

(ബവ)     പനർമലദനവർണയഅകകണന

(സവ)     ദലദൺഅപകകണന

(ഡവ)   ഇവപയദനട അല

4.             സദപനതവനന ദവണവ ഒര പങദളവ റവയടലദസഷൻ പചലവകൾ നൽകദമദൾ, ______

        അകകണന പഡബവറന പചയപപടട.

5.     പങദളവത പമദണതവപന അഭദവതവൽ,       ഇനവപറയനസദഹചരദങൾ എങപനടകകദരദട

      പചയണപമനന വദകമദകക

(എ)   ലദഭനഷങൾ പങവടൽ. 

(ബവ)       പങദളവകൾ നൽകന വദയയപട പലവശ

Answer both the questions No. 6 and 7. Each carries 2 scores.  (2 x 2 = 4)

6. Abhinav and Anand are partners in a firm sharing profits and loss in the ratio of

    4:1. They admitted Midhun into partnership for 1/5th share, which he gets equally

    from Abhinav and Anand. Calculate new ratio.

7. The average profits of a business for the last four years is   1, 50,000. The₹



     normal rate of returns in a similar business is 10%. The net assets of the business 

     is   12, 00,000. Calculate value of goodwill under capitalisation method.₹

6   മതൽ 7         വപരയള എലദ ദചദദദങൾകട ഉതരട എഴതക. 2     ദസദർ വരതട

6. 4:1             എനഅനപദതതവൽ ലദഭനഷങൾ പങവടനസദപനതവൽഅഭവനവട ആനനട

   പങദളവകളദണന.             അഭവനവവൽ നവനട ആനനവൽ നവനട തലദമദയവ ലഭവകന 1/5     ഓഹരവകന

            അവർ മവഥപന പങദളവതതവൽ പദവശവപവച .     പതവയ അനപദതട കണകദകക.

7.                 കഴവഞ നദലന വർഷമദയവ ഒര ബവസവനസവപന ശരദശരവ ലദഭട ₹ 1,50,000 ആണന.

              സമദനമദയ ബവസവനസവപല സദധദരണ വരമദന നവരകന 10% ആണന.   ബവസവനസവപന

          പമദതടആസവ ₹ 12,00,000 ആണന.     മലധനവൽകരണരരതവ അടവസദനതവൽ

            സദപനതവപന സൽദപരന മലദട കണകദകക

Answer any two questions from 8 to 10. Each carries 3 scores.  (2 x 3 = 6)

8. Mujeeb and Misthafa are equal partners. They admitted Sajan in the partnership

    for 1/6th share for which he brings   25,000 as capital and   6000 as his share ₹ ₹

    of premium. Give journal entries for the above transactions. 

9. Ajay,Bijoy and Vijay are partners sharing profit and losses in the ratio of 3:2:1. At

    the time of retirement of Ajay, balance sheet of the firm showed as under

General Reserve    30,000₹

Profit and loss account (Debit balance)   10000₹

Pass journal entries for the above adjustments   

10. State any three differences between dissolution of partnership and dissolution of

      firm.

8   മതൽ 10           വപരയള ഏപതങവലട രണന ദചദദദങൾകന ഉതരട നൽകക.  3     ദസദർ വരതട .

(2 x 3 = 6)

8.       മജരബട മവസഫയട തലദ പങദളവകളദണന. 1/6       ഓഹരവകന അവർ സദജപന പങദളവതതവൽ

   പദവശവപവച.       അതവനദയവ അദദഹട മലധനമദയവ 25,000          രപയട സൽദപരവപന ഓഹരവയദയവ



    6000   രപയട പകദണവരന.         മകളവലള ഇടപദടകൾകദയവ ദജണൽഎൻടവകൾ നൽകക.

9. അജയന, ബവദജദയന,     വവജയന എനവവർ 3:2:1       എനഅനപദതതവൽ ലദഭനഷട പങവടന

    പങദളവകളദണന.     അജയന വവരമവകനസമയതന,         സദപനതവപന ബദലൻസന ഷരറന തദപഴ

        നൽകവയ വവവരങൾ കദണവചവരന

     ജനറൽ റവസർവന ₹ 30,000 

   ലദഭനഷഅകകണന (  പഡബവറന ബദലൻസന)   10000 ₹

       മകളവലള കമരകരണങൾകദയവ ദജണൽഎൻടവകൾ പദസദകക

10.             പങദളവതതവപന പവരവചവവടലടസദപനതവപന പവരവചവവടലട തമവലളഏപതങവലട മനന

        വദതദദസങൾ പസദവവകക.

Answer both the questions No. 11 and 12. Each carries 4 scores.  (2 x 4 = 8)

11. What are the accounting adjustments required at the time of retirement and

       death of a partner ?

12. What are the differences between fixed capital method and fluctuating capital

       method ?

11   മതൽ 12         വപരയള എലദ ദചദദദങൾകട ഉതരട എഴതക. 4   ദസദർ വരതട

                               (2 x 4 = 8)

11.             ഒര പങദളവയപട വവരമവകൽ സമയതട മരണസമയതടആവശദമദയ അകകണവടഗന

         കമരകരണങൾഎപനദപകയദണന ?

12.               സവര മലധന രരതവയട ചദഞദടമള മലധന രരതവയട തമവലള വദതദദസങൾ

      എപനദപകയദണന?

Answer both the questions No. 13 and 14. Each carries 5 scores.  (2 x 5 = 10)

13. Anjal and Sanin are partners in a firm Sharing profits and losses in the ratio of

      3:2.  The  balance in  their  capital  account as  on 1st April 2020 were      ₹

      1,50,000 and   1,00,000 respectively. The  partnership  deed  provides  that  ₹

      Anjal  is  to  be  paid  salary  @    600  per month , where  as  Sanin  is  to  get  ₹



      a  commission  of    30,000  for  the  year. Interest on capital is to be credited at₹

     8% p.a. The drawings of Anjal and Sanin for  the  year  were  Rs.  30,000  and  

       10,000  respectively.  The  net  profit  of the firm before making these ₹

     adjustment was   1,95,00. Interest on Anjal’s drawings was   750 and Sanin’s ₹ ₹

     drawings,   250. ₹ Prepare Profit and Loss Appropriation Account

14. Arun, Binu and Chandra are partners in a firm. Binu retires from the firm. On

      the date retirement Rs.60000 becomes due to him. Arun and Chandran promise 

      to pay him the amount in 5 equal annual installments at the end of every year

      together with interest @10% on outstanding. Prepare Binu’s Loan Account 

13   മതൽ 14         വപരയള എലദ ദചദദദങൾകട ഉതരട എഴതക. 5   ദസദർ വരതട

     (2 x 5 = 10) 

13.     അഞലട സനവനട 3:2         എനഅനപദതതവൽ ലദഭനഷങൾ പങവടനസദപനതവൽ

     പങദളവകളദണന. 2020   ഏപവൽ 1­            നന അവരപട മലധന അകകണവപല ബദലൻസന യഥദകമട ₹

     1,50,000,   1,00,000 ₹ ആയവരന.           പദർടനണർഷവപന ഡരഡന പകദരട അഞലവനന പതവമദസട ₹

     600   ശമളട നൽകണട,           അവവപട സനവനന ഒര വർഷദതകന ₹ 30,000   കമരഷൻ ലഭവകട.   

           മലധനതവപന പലവശ പതവവർഷട 8%     ആയവ പകഡവറന പചയണട.     അഞലവപനയട

               സനവപനയട ഈ വർഷപത ദഡദയവടഗകൾ യഥദകമട 30,000,   10,000 ₹ എനവവയദണന. 

                   ഈകമരകരണട നടതനതവനന മമനസദപനതവപന അറദദദയട ₹ 1,95,00 ആയവരന.      

           അഞലവപന ദഡദയവടഗകൾകന 750       രപയട സദനവൻ വരചതവനന 250   രപയമദണന പലവശ.  

     ലദഭനഷ വവനവദയദഗ അകകണന തയദറദകക

14. അരൺ, ബവന,         ചന എനവവർ ഒരസദപനതവൽ പങദളവകളദണന.   ബവനസദപനതവൽ

      നവനന വവരമവച.       റവടയർപമനന ദവവസട അദദഹതവനന 60000     രപ കടവശവകയദയവ

    നൽദകണതണന.     കടവശവകയള തകകന 10 %         പലവശ സഹവതട എലദ വരനഷദവസദനവട 5 തലദ

                  വദർഷവക ഗഡകളദയവ തക നൽകദപമനന അരണട ചനനട വദഗദനട പചയന,    ബവനവവപന

        ദലദൺഅകകണന തയദറദകക

Answer any one question from 15 and 16. Carries 8 score.  (1 x 8 = 8)

15. Ajay and Vijay are partners in a firm in the ratio of 3:2. Their Balance Sheet as

      on 31­12­2022 is given below:



Balance sheet as on 31­12­2022

Liabilities Amount  Assets Amount 
Partner’s capital A/c:

Ajay            32000

Vijay           36000

Creditors

General reserve

68000

45000

27000

Cash  in hand

Stock in hand

Debtors

Sundry Assets

52000

10000

22000

56000

140000 140000
 The firm is dissolved on 31­12­2022. Prepare Realisation Account and Capital

    account of partners by considering the following:

a) Stock realized   8,000₹

b) Sundry assets sold for   48,000₹

c) Realization expenses met   3,000₹

d) Creditors paid in full.

16.  Following is the balance sheet of Sujith and Sudarshan who share profits in the

       ratio of 3:2. Balance sheet as on 01­04­2020

Liabilities Amount            Assets   Amount
Sundry creditors

Capitals

     Surjith                

     Sudarshan        

  18000

  43200

  28800

Cash in hand

Sundry creditors

Stock in hand

Furniture

Machinery

     5000

   15000

   20000

   25000

   25000

  
90000 90000

            On that date Sangeeth is admitted into partnership on the following terms;

(a) Sangeeth is to bring in   30000 as capital and   10,000 as premium for    ₹ ₹

            goodwill for 1/6th share in profits

(b) A creditor of   500 is not likely to claim his money.₹

(c) The value of stock is reduced by 10%

(d) Furniture is revalued at   30,000₹



(e) Provision for doubtful debts is to be created at 5% on sundry debtors     

Prepare revaluation a/c and partners’ capital accounts.

15   മതൽ 16           വപരയള ഏപതങവലട ഒര ദചദദദതവനന ഉതരട നൽകക. 8 ദസദർ

(1 x  8 = 8)

15.      അജയട വവജയട 3:2          എന അനപദതതവൽ ഒര സദപനതവൽ പങദളവകളദണന.  31­12­

2022     പല അവരപട (  ബദകവപതട )       ബദലൻസന ഷരറന ചവപട നൽകവയവരവകന:

31­12­2022     പല ബദകവപതട

 ബദധദതകൾ   തക  ആസവകൾ   തക
   പങദളവത മലധനട :

            അജയന 32000

           വവജയന 36000

പകഡവദറഴന‌സന

   ജനറൽ റവസർവന

68000

45000

27000

   ടകവശമള പണട

   ടകവശമള ദസദകന

 പഡബനദറഴന‌സന

 വവവവധ ആസവകൾ

52000

10000

22000

56000

140000 140000
31­12­2022­    നന സദപനട പവരവചവവട.      ഇനവപറയനവ പരവഗണവചന പങദളവകളപട

 റവയടലദസഷൻഅകകണട,     മലധന അകകണട തയദറദകക: 

a)   ദസദകന 8,000   രപയദയവ

b)       വവവവധ ആസവകൾ ₹ 48,000­    നന വവറ

c)       റവയടലദസഷൻ പചലവകൾ ₹ 3,000 ആയവ

d)     കടകദർ മഴവൻ പണമടച.

16. 3:2               എനഅനപദതതവൽ ലദഭട പങവടന സജവതവപനയട സദർശപനയട ബദലൻസന ഷരറന

      (ബദകവപതട)   തദപഴ പകദടകന

01­04­2020     പല ബദകവപതട

 ബദധദതകൾ   തക  ആസവകൾ   തക
  സൻഡഡ കകഡഡററർസസ

 മലധനട :

                   സർജഡതസ

             സദർശൻ

  18000

  43200

  28800

   ടകവശമള പണട

 സൻഡഡ  പഡബനദറഴന‌സന

 ടകവശമള ദസദകന

 ഫർണഡചർ

 കമഷഡനറഡ

     5000

   15000

   20000

   25000

   25000

  
90000 90000



            ആതരയതവയവൽ സടഗരതവപന ഇനവപറയന വദവസകളവൽ പങദളവതതവൽ പദവശവപവച; 

(എ)    ലദഭതവൽ 1/6    ഓഹരവകന 30000      രപ മലധനമദയട 10,000    രപ പരമവയമദയട

 സടഗരതന പകദണവരണട. 

(b)   500 ₹          കടകദരൻ തപന പണട പകയവട പചയദൻ സദധദതയവല. 

(സവ)     ദസദകവപന മലദട 10%   കറഞ

(ഡവ)     ഫർണവചറകളപട മലദട 30,000   രപയദണന

(ഇ)   സൻഡഡ  പഡബനദറഴന‌സവപന 5 %       സടശയദസദമദയ കടങൾകദയവ നരകവപവകണട

   പനർമലദനവർണ അകകണന,         പങദളവകളപട മലധനഅകകണകൾഎനവവ തയദറദകക.

PART ­ B

                                    (COMPUTERISED ACCOUNTING)                   ( 20 Scores)

Answer any three questions from 17 to 20. Each carries 1 score.  (3 x 1 = 3)

17. Range of numbers are used for codification in

(a)Sequential code  (b) Block code 

(c)Mnemonic code  (d)Numeric code

18. _____ function is used to round a number to a certain number of decimal places.

19. LibreOffice Calc function used to find out Equated monthly installment is _____.

20. Identify the system generated Ledger accounts in GNUKhata from the following

(a) Cash Account  (b) Capital Account 

(c) Profit and Loss A/c (d) None of these

PART ­ B

                           COMPUTERISED ACCOUNTING                      ( 20 Scores)

17   മതൽ 20        വപരയള ഏപതങവലട മനന ദചദദദങൾകന ഉതരപമഴതക.  1      ദസദർ വരതട  

(4 x 1 = 4)

17. ...............         എനതവൽ ദകദഡരകരണതവനദയവ സടഖദകളപട ദശണവ ഉപദയദഗവകന



(എ)     തടർചയദയ ദകദഡകൾ (ബവ)     ദബദകന ദകദഡകൾ

(സവ)     നവദമദണവകന ദകദഡകൾ (ഡവ)   സടഖദദ ദകദഡകൾ

18.                 ഒര സടഖദപയ ഒര നവശവത ദശദടശസദനങളവദലകന റകണന പചയദൻ _____ ഫടഗനഷൻ

      ഉപദയദഗവകന.

19.     തലദമദയ പതവമദസ ഇൻസന‌റദൾപമനന(EMI)       കപണതദൻ ലവപബ ഓഫരസന കൽകവൽ

            ഉപദയദഗവകന ഫടഗനഷൻആണന ______ 

20.              തദപഴപറയനവയവൽ ജവനകദതയവൽ സവസട ജനദററന‌പചയന പലഡനജർ അകകണന

      തവരവചറവയക

(എ)     കദദഷന അകകണന (ബവ)     മലധന അകകണന

(സവ)     ലദഭനഷഅകകണന (ഡവ)   ഇവപയദനട അല

Answer the question No. 21, which carries 2 scores.    (1 x 2 = 2)

21. What is DBMS ?. Give any two example for DBMS Software.

   ദചദദദ നമർ 21       നന ഉതരട നൽകക . 2                  ദസദർ (1 x 2 = 2)

21.   എനദണന DBMS?.         ഡവബവഎടഎസന ദസദഫന‌പവയറവനന ഏപതങവലട രണന ഉദദഹരണങൾ

      നൽകക.

Answer both the questions No. 22 and 23. Each carries 3 scores.  (2 x 3 = 6)

22. Write the function name with syntax for the calculation of depreciation under 

(a) Straight Line Method

(b) Written Down Value Method

23. List out any three advantages of using graph and chart in business application.

22   മതൽ 23         വപരയള എലദ ദചദദദങൾകട ഉതരട എഴതക. 3       ദസദർ വരതട

                                                                                               (2 x 3 = 6) 

22.              തദപഴ പറയന രരതവ പകദരട മലദ ദശദഷണട (Depreciation)  കണകദകനതവനള



   ഫങനഷൻ വദകദഘടന (Syntax)    സഹവതട എഴതക

          (എ)     ദനർദരഖ രരതവ ( Straight Line Method )

          (ബവ)       നരകവയവരവപന മലദ രരതവ (Written Down Value Method)

23.             ബവസവനസന ആപവദകഷനവൽ ഗദഫട ചദർടട ഉപദയദഗവകനതവപന ഏപതങവലട മനന

        ഗണങൾ പടവകപപടതക      

Answer the question No. 24, which carries 4 scores.                     (1 x 4 = 4)

24. Explain any four features of computerised accounting system.

   ദചദദദ നമർ 24       നന ഉതരട നൽകക . 4                  ദസദർ (1 x 4 = 4)

24.           കമമടടറസനഡന അകകണവടഗന സവസതവപന ഏപതങവലട നദലന സവവദശഷതകൾ

     വവശദരകരവകക.

Answer any one question from 25 and 26, which carries 5 scores.    (1 x 5 = 5)

25. Identify the voucher type and function key used for entering the following

      transactions

(a) Commenced business with cash    1,00,000.₹

(b) Purchased furniture from Royal furniture mart for   17,000.₹

(c) Opened a Saving Bank account in SBI for   10,000.₹

(d) Paid rent for   5,000.₹

(e) Sold goods for    5,000.₹

26. Briefly explain the following functions in LibreOffice Calc

(1) TODAY

(2) COUNTA

(4) LOOKUP

(4) IF

(5) PMT

25   മതൽ 26           വപരയള ഏപതങവലട ഒര ദചദദദതവനന ഉതരട നൽകക. 5 ദസദർ

(1 x  5 = 5)

25.              ഇനവപറയന ഇടപദടകൾ ദരഖപപടതവനതവനന ഉപദയദഗവകന വകചർ തരവട പവർതന

        കരയട തവരവചറവയക



(എ) 1,00,000       രപ ഉപദയദഗവചന ബവസവനസന ആരടഭവച. 

(b)         ദറദയൽ ഫർണവചർ മദർടവൽ നവനന 17,000     രപയന ഫർണവചർ വദങവ. 

(സവ) SBI  യവൽ 10,000         രപയന ദസവവടഗന ബദങന അകകണന തടങവ. 

(ഡവ)     വദടക ₹ 5,000   പകദടത

(ഇ)   5,000­₹    നന സദധനങൾ വഡറ.

26.     ലവപബ ഓഫരസന കൽകവ         പല ഇനവപറയന ഫങനഷനകൾ ചരകവ വവശദരകരവകക

(1) TODAY

(2) COUNTA

(4) LOOKUP

(4) IF

(5) PMT

 

Prepared by ( Malppuram District Cluster )

No Name of Teacher PEN  Designation School 

1 SULAIMAN T P 324643 HSST GHSS KUNNAKKAVU

2 AJAYAN V 444427 HSST GHSS ANAMANGADU

3 SHOWKATHALI O 485137 HSST GHSS KUNNAKKAVU

4 RAMSHAD E 717233 HSST CHMHSS POOKOLATHUR

5 MOHAMMED RAFEEQU A 392896 HSST GVHSS ARIMBRA

6 SOBHA C 345394 HSST GGHSS MANJERI

7 SOUBEENA P T 915422 HSST GHSS PANG

8 MUHAMMAD AJMAL 723070 HSST GHSS IRUMBUZHI

9 SHIJI P HSST GVHSS PULLANUR


